WWYRGR\EHODSAIRE b5

WS qF ATGHT TE TAETO GIerat @i T 7 HEl WI¢ I dF 7 @ied

@ . : ASGT-B-GNL qOeur givaent stashn

W Heat _
0382189 e e
wfora

m:a}w@sﬁr?ﬁwﬁaa Uit = 300

10.

TR
THAT W B 3 g 91E, AT W qQ0r et it ugar swava o o s ged @ e e,
HET AT LT T TS AT WA AR 7 2 | Afe Yo g, o @ Wt wdveror gfwww @ www F |
Faar oo W@ R OMR Iw-Tsw # Sfm wm @, Aw TR R udewr gierm s
A, B, CTTD M & & wd foran feelt s a1 faefar & 7w s gewg @ @t fvdgd
gufear €t ¢ | Bt oft war 6t a9 /ety f fafy #§ swr-os e wx fear smom |
T gt gferent o | # fiu T sisse # sraet st
rsaTen ferg ® | wiem gfes Wik o A fad |
@ wiem e § 120 wei (99) Re g # | el g R ik stlsh et % o R
7AF Y # 9R WegwR (W) iy ¥ | 7 ¥ @ g A o, B sw-ms w®
siftra o =TeY € | AR smus Y o fF ww @ e woeR wEl €, O 96 v & sifhd
T T | ey ¥ i e v @ e 3 € '
TR I T FgTR Ao A T T TR - T sifenat A € | SR-wen # g g e 3@
T T & 3 qEH € |
@ vea T 3y wdemr giere & fafim weisl & TogoR STR-Te W ST AT g &, et
WAL WHIO- o A1 I SR & AER §9 faaw sw-wmE A € |
A9 T T Y hl STR-TAh & TRA o TG T THET F FHIG R A IAL-THH H1&H i
dia ¥ | e s | e giRE & sl € '
o I & ToIQ 9o, T Yye & siq # wo € |
TEgfres wyA-wst # gwiiear g fe g e Swd % frg gee R s |
(i) ¥ 7 F fru IR F5RE IR € | 9eficar TR vas ww & fog g e ea s
% forg wem ¥g e forg 1o st o wen - fereTs que & =9 # wrer wma |
(i) T = Sefiear U A arfire SR T €, O T e IwAAT S, Fafy fig T Wi # @
TE IR G BT 8, TR o 58 s & forg SwdeEr @ SE we @ gve fea smam |
(i) afe SHGaR gRT A U &« el forarn ST R, mmmwaﬁﬁmm%
@ 98w & forg v que 7 fean s |

WE TF ATIH Tg TR0 JIeraT a7 gl JIY a« aF 7 @i

Note : English version of the instructions is printed on the back cover of this Booklet.
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1. 7 0, 1 F1 T Jarates gge §, a@
l-w
0 +0?

(a) \3
®) V2
(© 1

4
()] N

HHAA TG ?

LFad 0, 1,2, 3, 4 3R 5 & (TS H
T R) SUENT X 6 3ihi arell UHt
forat deaTq & TS S weRdt € S 6 @
=T ' ?

(a) 96
(b) 120
) 192
@ 312

.MEd @ 1011 & g fg-smawt
TS TR ?

(@) 1011

(b) 111011
(c) 11111001
(d) 111110011

. AT ST 4 T 3x3 Hife &1 3Tge ©
3R [4]=4 B | TR |2 adj(34)| =23P
R W(a+f)MAA TR ?

(@ 12
(b) 13

ASGT-B-GNL - A

(c) 17

d 24

5.9f¢ o 3R B EAHT 2 —x+1=0%

100 100
A

(@) 3

(b) 2

() 1

1 HE 1

1
@ B

.HAH AT 4 3R B g9H HIfe &

wafia smegg €, O (4B - BA) % 6ed
iR i sm-arT a7

1. Zaht ool wiafear qam afe=
AR B

2. 3qh  IR-ferepof (Non-diagonal)
wiafiat w1 dnrer = R

T fou U e @ A R EE SW
& 999 HifSg :

(a) Fat1
(b) *ad 2
(c) 13R 2t

(d FaTL, 9@ 2
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1. If @ is a non-real cube root of 1, then

what is the value of 1-(02 7
0+
@ 3
(b) V2
(c) 1
4
(d) B

. What is the number of 6-digit numbers
that can be formed only by using
0,1, 2, 3, 4 and 5 (each once); and
divisible by 6 ?

(a) 96

(b) 120

(c) 192

d) 312

. What is the binary number equivalent
to decimal number 1011 ?

(@) 1011
(b) 111011
(c) 11111001

(d) 111110011

. Let A be a matrix of order 3x3 and
|d|=4. If |2adj(34)|=2935, then
what is the value of (a+f)?

(a) 12

(b) 13

) 17

(d) 24

. If a and B are the distinct roots of

equation x2 —x +1 =0, then what is the

alOO B ﬁ100|

value of |[———
1% _ gi00

@ 3
®) V2
(c) 1

1
@ 3

. Let A and B be symmetric matrices

of same order, then which one of
the following is correct regarding
(AB—-BA)?

1. Its diagonal entries are equal but
nonzero

2. The sum of its non-diagonal
entries is zero

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

A — ASGT-B-GNL
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7. T R nh TS F AE 4, B, C

& Hed § frafafee w0t —® fmR

HI

1. AB=AC= B=C,qafs Agchaviyg
?

2ﬁm%nﬁﬁﬁﬁaﬁ?ﬁﬁlaﬁﬁh¥%
fuBxX=Ccx % @AB=C

Idh wAAl § wE-A1/3 qEH R/ ?
(a) ¥ 1

(b) Fa 2

(c) 1 3R 2 QA1

(d) AL, A2

8. faw witmwr e x+2y+z=4,

2x+4y+2z=8 3R 3x+6y+3z=10

FT/F
(a) afgda &0
(b) FAfFT & §

(c) &% & TEl ©
(d) Wi I B €

.HF ST AX = B, 3 @@l & @¥
3 W Tl 1 U e R | AW
g X, 3R X, 390 @ B a1 €1
Tl aX,+bX, 1 GAH, AX=BEH T&
T §, W@l a AR b aEaE @A €,
A Frafofea § ¥ S-ar feer ad
e

(@) a=b

(b) a+b=1

ASGT-B-GNL - A

10. TR

11.

12.

() a+b=0
d a-b=1

0 x-a x-b
0 xX-c
x+b x+c 1

%qgvﬁammw%?
{(a) a+b+tc
(b) a-b+c

(c) atb-c

= ()

d a-b-c

afe 2-i\/3, &t i=+/-1 §, Wt
Pt+ax+b=07F T qq ¢ q (a+b)
HAF FTE ?

(a) -11
(b -3
(c) 0
@ 3

'Qﬁzl-*-l:j———ml'\/—%ﬁ

z T I T § 7

s

b) = -

(0 3

W =
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7. Consider the following statements in (c) a+tb=0
respect of square matrices 4, B, C each d o
of same order n : W) g =0 =
1. AB=AC = B=C if A is non- 10. What is the sum of the roots of the
singular i
2. If BX=CX for every column cquation i @ 0 x—c|=07?
matrix X having n rows then x+b x+c 1
B=C
(@ a+b+c
Which of the statements given above o) Wb o
is/are correct ? .
(c) atb-c
(a) 1 only
d a-b-c
(b) 2 only
(c) Both 1 and 2 11. If 2—i/3 where i =+/-1 is a root of
: the equation x + ax + b = 0, then what
(d) Neither 1 nor 2 is the value of (a + b) ?
(a) -11

8. The system of linear equations
x+2y+z=4,2x+4y+2z=8 and (b) 3
3x+§y+3z=10 has © 0

(a) a unique solution @ 3

(b) infinite many solutions

_1+iV3

(c) no solution 12. If z= where i=+/-1, then
1-i\3
(d) exactly three solutions what is the argument of z ?
: n
9. Let AX=B be a system of 3 linear (a) 3

equations with 3-unknowns. Let X;
and X, be its two distinct solutions. If

the combination aX;+bX, is a (b) -
solution of AX = B; where a, b are real 3
numbers, then which one of the h
following is correct ? (c) 5
@ a=0b . £
(b) a+b=1 ) 6

5 A - ASGT-B-GNL
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15.

16.
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afe a,b,c APHEQ

x+1 x+2 x+3
xX+2 x+3 x+4
X+a x+b x+3

forersh sRIeR & 7

(a) -1
(b) O
(© 1
d 2

afg log,a, a* 3R log,x, GP ¥ §, @
x Toraeh SRR % 7 '

(@) log,(logya)
(b) logy(log,b)

(C) loga (IZOgb a)

(d) logb(IOga b)
¢
v:f%;z%, 2“%, 2% GP# € a1 fr=fafaa
AI-TMTE TR ?
@) a,b,c, APH E
(®) a,b,c, GPH &
(c) a. b c,HPﬁ%
(d) ab, bc, ca, AP H &

TS AP & Ugell 3R TET UG AN

%3ﬁ'( %%%l afe n & 9 geuH
SHUITCHS 9C §, A n & A T & ?

@ 5
(b) 6

ASGT-B-GNL - A

fe) 2
(d) n fdiha =& forar s @@

17. k% T quifs Wt (integral values)

18.

19.

& fou sl 2—4x+ k=0, @i
k of wem ®, ¥ awatis q@ § R
QAT TS IR (0, 5)H € ?

(@ 3

(b) 4

() 5

) 6

T AP #, vsmuax%/aﬂ?q%%
nﬁﬂmﬁﬁ%lmmqﬁ
T TRl T § ?

() mx(m+ n)
n—1

(b) mx(m+n)

1-n

© nx(m+n)

m—1
(@) Eya)
1-m
Frafafea waat w f=rR Hif
1. 25! +1,26 ¥ w19 @
2.(6)!+1,7 AT &
ST FUAl H w1 /& W R/
(a) &ad 1
(b) &ad 2
(c) 13R 23t
d T 1,982
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www.govtjobsalert.in

If a, b, c are in AP, then what is

x+1 x+2 x+3
x+2 x+3 x+4| equal to ?
x+a x+b x+3 '

(@ -1
(®) 0
© 1
@ 2

If log,a, a* and log,x are in GP, then
what is x equal to ? '

(@) log,(logya)
(b) log(log,b)

(C) Ioga(IOgb a) .

2
(d logy(log, b)
2
e
If 2¢, 29, 29 are in GP, then which

one of the following is correct ?
(@) a, b, c are in AP

(b) a, b, c are in GP

(c) a, b, ¢ are in HP

(d) ab, bc, ca are in AP

The first and the second terms of an
AP are 3 and 2 respectively. If n™

term is the largest negative term, what
is the value of n ?

(@) 5
(b) 6

17.

18.

19.

() 7

(d) n cannot be determined

For how many integral values of k, the
equation x2 —4x + k=0, where £ is an

integer has real roots and both of them
lie in the interval (0, 5) ?

(@ 3
(b) 4
v e
@ 6
In an AP, the first term is x and tﬁe

sum of the first n terms is zero. What
is the sum of next m terms ?

@ mx(m+n)
n—1

(b) mx(m+n)
1-n
© nx(m+n)

m—1

d) nx(m+n)
1-m
Consider the following statements :
1. (25)! + 1 is divisible by 26
2. (6)! + 1 is divisible by 7

Which of the above statements is/are
correct ?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — ASGT-B-GNL
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23, aaﬁwﬁmﬁwﬁwémﬁho

zo.w&z@wmm%ﬁsj—:

21.

22.

J&a: Aftwfera R, @ |z| frad swaeR
R

(@)

(b)

= W N -

(c)
(d) 2

fraft  awafes  wead  wtewRe
|x—4|+[x—7| =15l HIC FeAl € ?
(a) Fad TH

(b) Fad q

(c) e i

(d) s=fEa

T& %[ f: 4 — B 38 YR qiefyg

2 =-&N 2T 2
3x+5

f ATSBIEE ', a6 4 3R B fFad sw=R

27

(@) 4=R\{-3} 3R B = R\{-2}
(b) 4 =R 3R B =R\{-§}
(c). A =R\{-3} 3R B = R\{0}

(d 4 =R\{-3} 3R B = R\{2}

ASGT-B-GNL - A

24.

25.

¥ firs Tt 7w § | o PufRa =
& fou freafafea % @ S-wr/a =
e 2 /€ ?

1. a+B =0, a2+p2=2
2. ap2==1,a=0

T U T ¢ W W@ R 9 W
LS

(a) wad 1
(b) had 2
(¢) 1R 2z
(d a1 1,782

afq (x~§ +x%log,, x)s % foug wewwr &
VAT Ig 5600 ¥, T x HT A F1 & ?
@ 6

(b) 8

© 9

@ 10

Bx—p)Hx+3y)* & wwor # frew ug
g7

@ 9

(b) 12
(e). 15

@ 17
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20. If z is a complex number such that

21.

22.

z-1
=1 is purely imaginary, then what is

|z| equal to ?

N | —

(a)

2
()3
() 1
) 2

How many real numbers satisfy the
equation |x—4|+|x-7| =15 ?

(a) Only one

(b) Only two
(c) Only three

(d) Infinitely many

A mapping f:A4-—> B defined as

2x+3
x =
/@ 3x+5

then what are 4 and B equal to ?

,x € A. If fis to be onto,

(a) 4=R\{-3} and B = R\{-%}
(b) 4 =R and B =R\{-3}
(c) 4=R\{-2} and B = R\{0}

(d) 4=R\{-3} and B = R\{%}

23.

24,

25.

a and B are distinct real roots of
the quadratic equation x2+ ax+ b =0.
Which of the following statements
is/are sufficient to find o ?
l.a+B=0, a2+p2=2
2.ap2=-1,a=0

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

If the sixth term in the binomial ex-

, 8
=
pansion of (x' 3+ x% log,, x) is 5600,

then what is the value of x ?
(a) 6
(b) 8
© 9

(d 10

How many terms are there in the
expansion of (3x — y)*(x + 3y)* ?

@ 9
(b) 12
© 15
@ 17

A - ASGT-B-GNL
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26.p,q,r3ﬁTsAPﬁ'3HW%ﬁi

27

28.

pts=8 3R gr=15 2 | ¥R <«
AR qad BIE FEAT F S HR TG ?

@) 6
() 5
(c) 4

@ 3

fra agt e 1 % R frafiea

Tl R R fifse .
C(n,r)ﬂ%?m%zﬁn=2r%

2 C(n,r)qm%qﬁn=2r—l3ﬁ1
n=2r+1%

ST FAA § HH-A/F WG R/R ?
(a) &9 1

(b) Fa 2

() 13R23t

(d FA1,T&2

m IR 3@TT, 7 @ A Fed
IR T 60 TR IPHT T ¥ |
(m+n)FATHTE ?

@ 6 |

(b) 7

(c) 8
d 9 |

ASGT-B-GNL - A

10

29. A WIWT e ‘PERMUTATIONS’
& wHEAl hl G x g IR U=
‘COMBINATIONS’ & R4l sl H&AT
b, g s sm-aradi & 2
@ x=y
b y=2
(c) x=4%

(d y=4

30.3% 0, 1, 2, 4, 59, TREf g fom

5-3rh1T F&ITT &[S ST © | 50,000/
It gegmett it wiasraan feeat © 2

(a) 20%
(b) 25%

110

@ =%

AW AW 91 T (02) v & forw faferfea
R fer fifsg .

HH Fﬁﬁm sina 3R cosq &I GM, sinf 2
3R sing AR cosa FT AM, tany %

31. cos2p foraeh =R % ?
(@) (cosa Z sina)?
(b) (cosa + sina)?
(c) (cosa — sina)?

(cosa— sinoz)2

@




26.

217.

28.

www.govtjobsalert.in

p, g, r and s are in AP such that
pts=8 and gr=15. What is the
difference between largest and smallest
numbers ?

(@ 6
() 5
(c) 4

(d 3

Consider the following statements
for a fixed natural number 7 :

1. C(n, r) is greatest if n=2r

2. C(n, r) is greatest if n=2r — 1 and
n=2r+1

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

m parallel lines cut »n parallel lines
giving rise to 60 parallelograms. What
is the value of (m +n) ?

(@) 6

(b) 7

(c) 8

d 9

29. Let x be the number of permutations of
the word ‘PERMUTATIONS’ and y be
the number of permutations of the
word ‘COMBINATIONS’. Which one
of the following is correct ?

(@ x=y
b) y=2x
© x=4y
d) y=4

30. 5-digit numbers are formed using the
digits 0, 1, 2, 4, 5 without repetition.
What is the percentage of numbers
which are greater than 50,000 ?

(@) 20%
(b) 25%

100
3

© =%

Consider the following for the next two .
(02) items that follow :

Let sinf be the GM of sina and cosa; tany
be the AM of sina and cosa.

31. What is cos2f equal to ?
(a) (cosa — sina)?
(b) (cosa + sina)?
(c) (cosa — sina)?

(cosa —sin oz)2
.

(d)

A — ASGT-B-GNL
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32. sec2y 1 HME HT 7

3—-sin2¢
5+2sin2

(a)

S5+sin2c
3-sin2a

(b)

3-2sin2x
4+sin2¢

©

3-sin2a
4 +3sin2a

(d

W T AT QY (02) AT & forg Freafafea
R =R s .
10m 3= T G T 20 m 91 U &I97aU8

= R S e & fRet fog PR tan(0-5)
HT IFARa F=aT ® | W o @® gRT 36

fag P W siafa @ o @ |
Bac @ F@APH P2, @
frrafofaa st ) fer Hifto .
LxF YA TR G, S 1:3 &
FqaTa # €
2. x SAGUS H FAE F TR B
el

ST FA H BA-E1/H W R/ 7
(a) Faa 1

(b) &ad 2

(c) 13R 23t

(d) A1, TE 2

ASGT-B-GNL - A

12

34. Tan0 &1 GWIfed AF =T ?

(@)

SV I S SER  H{ I

(b)

W | -

©

(d)

=

AW AW AT 9 (02) WHT & forq Fmafefaa

& P 4BC &1 uftm, B & @it &
sine%AM‘dﬂ6’ﬂ?ﬂ%l EGE TGl
BC=~33RCcA=1%

35. B &1 afmg Far @ ?
(a) \V3+1
(b) 3+2
(©) V3+3
d) 2v3+1

36. frafafea Famt w faer fifvg :
1. ABC awaIvia B ®
2. Pt & For 4P H
S o # a/d w28 0
(a) Fqd 1
(b) a2
(c) 13K 23t
(d) FarT 1,982
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32. What is the value of sec2y?

3—sin2¢
@) Si2sm2a
5+sin2a
() 3-sin2a
3-2sin2¢
4 +sin2¢

©

3-sin2
4+3sin2a

(d)

Consider the following for the next two
(02) items that follow :

A flagstaff 20 m long standing on a pillar
10 m high subtends an angle tan~!(0-5) at a
point P on the ground. Let 6 be the angle
subtended by the pillar at this point P.

33. If x is the distance of P from bottom of
the pillar, then consider the following
statements :

1. x can take two values which are in
the ratio 1 :3

2. x can be equal to height of the
flagstaff

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

13

34. What is a possible value of tan6?

(@)

W Hlw

(b)

W | =

(©

(d

=

Consider the following for the next two
(02) items that follow :

The perimeter of a triangle ABC is 6 times
the AM of sine of angles of the triangle.

Further BC = «/3 and CA=1.

35. What is the perimeter of the triangle ?
@) 3+1
(b) 3+2
(©) V3+3
(d) 243+1

36. Consider the following statements :
1. ABC is right angled triangle

2. The angles of the triangle are in
AP

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A - ASGT-B-GNL
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IR ST A QY (02) W & forg Frefafea
‘Rﬁ’qﬂﬁﬁﬂ!

LR 2
AR 4
5d sin“A4 .s1nA+1’
sin 4

el 0<As%%

37. x &1 AW A 1§ ?
(a) 1
(b) 2
(c) -3
@ 4

38. 4 & for WM W, x 1 AW A ® ?

(a)

K]

(®)

A~

w|y

(©

@ 3

I M 9 T (02) g & forg fraferfea
R faR fifsg _
ﬁl‘ﬁﬁABC q, a*+b*+c* =ac+~3bc

39, st o1 w@eq R 7

(a) EHETE
(b) wfgaTg
(c) Twaia Fragst

(d) ﬁm‘gﬁrﬁﬂwﬁvﬁuaﬁ

ASGT-B-GNL - A

40. 3% c =8 %, A Pregst @1 doreer T & 2
@ 43
b) 63
) 83

@ 1243
IR F A (02) W F g FrafaRaa
R fErR $ifsa .

AT f(x)=|x-2|+|3-x|+|4-x|, SRl
X€R %, R feER ﬁﬁ‘l‘Q s

41. x & foFm 99 | wW FAH AW W™
AT ® ?

(@) 2
(b) 3
() 4

(d 0

42. B T AqH HE 1L ?
(@) 2
(b) 3
(c) 4

@ 0
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Consider the following for the next two
(02) items that follow :

_ sin?A+sin4+1

Let x -
sin 4

where 0< 4 < %

37. What is the minimum value of x ?
(a) 1
(b) 2
(c) 3
(d 4

38. At what value of 4 does x attain the
minimum value ?

b/
@ &
/1
® 7
T
© 3
@ 3

Consider the following for the next two
(02) items that follow :

In the triangle ABC,
a*+b%+c* = ac+3bc

39. What is the nature of the triangle ?
(a) Equilateral
(b) Isosceles
(c) Right angled triangle
(d) Scalene but not right angled

15

40. If ¢=8, what is the area of the

triangle ?
(a) 443
() 63

(c) 83

d 1243

Consider the following for the next two
(02) items that follow :

Consider the function

f(x)=|x-2|+|3-x|+|4- x|, wherex € R.

41. At what value of x does the function
attain minimum value ?

42.

(@ 2
(b) 3
(c) 4

@ 0

What is the minimum value of the

function ?
(@) 2
(d) 3
(c) 4

@ o

A - ASGT-B-GNL



www.govtjobsalert.in

IR I T A (02) WE F frg Frafafea
R femr Sifsm

AR S=01+11+21+31+41+. ...+ 100!
R fEr fifse .

43.afc 9w s+ 8 | fawfom forar sy,
A ANES FT TR ?
@ 0
®) 1
(c) 2
(@) T w6 forn s wepar

44. 3t arr S &t 60 ¥ T feran g,
Tt ATEH FT BN ?
(a) 1
(b) 3
(o) 17
@ 34

WY 3 AT o (02) Wt & forg frafafea
R far Hifvg

Bt POR ®, P @@ w91 @ ® SR
cosP=1 % | & sfafes Byt 1 sicda
9 ST PO, OR 3R RP & AW
N, L ¥R MR 0 ¥&R @i a=ar § & PN,
QLﬁIRMﬁﬁHﬁ%ﬂQT: nn+2, nt4
®, 961 n T T €O § |

45. n S I W ?
(a) 4
(b) 6
(c) 8
@ 10

ASGT-B-GNL - A

46. TSR DI o1 A Fars Rt ® 2
(@ 12
(b) 14
© 16
(d) 18

AR W AT < (02) 9 & forg faferfea
R far $ifse . ’

farm g &

sinx + cosx + tanx +cotx + secx +cosecx =7

47. ftu W whew = form wfiewo #
T (reduced) foRam ST e ® 7

(a) sin?2x—44sin2x+36=0

(b) sin®2x+44sin2x-36=0

(c) sin®2x-22sin2x+18=0

(d) sin®2x+22sin2x-18=0
48.3af¢ sin2x=a-bc ®, &l a 3R b

g0 FEAT § 3R ¢ TF AN qE&AT
TMa-b+2c AT TG ?

(@ 0
(b) 14
(c) 21

(d) 28
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Consider the following for the next two
(02) items that follow :

Consider the sum
S=01+11+214+31+4!+. ...+ 100!

43. If the sum S is divided by 8, what
is the remainder ?

@@ 0
(b) 1
©) 2

(d) Cannot be determined

44. If the sum S is divided by 60, what is

the remainder ?
(@ 1
(b) 3
(c) 17
(d) 34

Consider the following for the next two

(02) items that follow :

In a triangle POR, P is the largest angle
and cosP = % Further the in-circle of the

triangle touches the sides PO, OR and RP
at N, L and M respectively such that the
lengths PN, QL and RM are n, n+2, n+4
respectively where n is an integer.

45. What is the value of n ?
(a) 4
(b) 6
(© 8
(d) 10

17

46. What is the length of the smallest
side ?

(@) 12
(b) 14
(c) 16

) 18

Consider the following for the next two
(02) items that follow :

Given that »
sinx +cosx + tanx +cotx + secx +cosecx =7

47. The given equation can be reduced to

sin? 2x—44sin2x+36=0

(a)

(b) sin?2x+44sin2x-36=0

sin?2x—22sin2x+18=0

©

sin?2x+22sin2x—-18=0

d

48. If sin2x=a—b«/z, where a and b

are natural numbers and c¢ is prime
number, then what is the wvalue of
a-b+2c?

@ 0
(b) 14
© 21
@ 28

A — ASGT-B-GNL
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AW AW T T (02) WA F forg Freaferfea (c) a,2b,c APHE

sl : (d) a,2b,cGP H g

s feandia aeftemor sawer foar w2 i v
(3+242)2 - (4+243)x+(8+443)=0 52.3f% A7, 4, 2, @) =0 qt o Fraffaa

ﬁﬁﬂ-ﬁ@ﬂﬁmm‘@(rcot)% ?
49. THIGRU F Hell H HM FT & ?

@ 2 (@) 7x*+4x+2=0
() 4 , (b) 7x*-4x+2=0
© 242 (€) 7x*>+8x+2=0
@ 243 d) 7x*-8x+2=0
50. FHIERU & Tl w1 GM T § ? it sy it oy Bt
@ V2(V6-v3+42-1) W femAifog .
fear mn & f& m(6) = cot?6 + n*tan’0 + 2n
®) V2(V6+43-+2-1) Sl n U fa e aretaes der §

2 (JE—J§+J5—1) 53. m(0) &1 gATH HH TR ?

@ (V6+V3+42-1) )
(b) 2n
AW W 9T 3 (02) WAt F forg Frmforfea
Wﬁ’ﬂﬂﬁﬁ"l ; : (©) 3n
A g (d) 4n
a b ac+b
A(a, b, c, @)=| b ¢ ba+c 54. f5q wicey & sicfa m &1 7 W
aac+b ba+c 0 B ? ‘
51.3f¢ A(a, b, ¢, @)=0 A T&F o> 0 (@ n=tan’0
& forg fraferfaa & S-ar wdt 2 2 ~ (b) n=cot?0
~ (a) a,b,cAP ug | (c) n = sin%0
o (b) a,b,cGPHE (d) n = cos?0

ASGT-B-GNL - A 18
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Consider the following for the next two
(02) items that follow :

A quadratic equation is given by

(3+2«/§)x2—(4+2«/§)x+(8+4«/§)=0

49. What is the HM of the roots of the
equation ?

@) 2
() 4

© 242
d 243

50. What is the GM of the roots of the
equation ?

@ V2(N6-3++2-1)
) V2(N6+3-+2-1)
© (V6-+3+42-1)
@ (Vo+3++2-1)

Consider the following for the next two
(02) items that follow :

a b ac+b
b & ba+c
ac+b ba+c 0

Let A(a, b, c, @) =

51. If Aa, b, ¢, a)=0 for every a > 0,
then which one of the following is
correct ?

(a) a, b, c are in AP
(b) a, b, c are in GP

19

(¢) a, 2b, c are in AP
() a, 2b, c are in GP
52. If A(7, 4, 2, a)=0, then « is a root

of which one of the following
equations ?

(@) 7x*+4x+2=0
(b) 7x*-4x+2=0
(c) 7x*>+8x+2=0

(d) 7x*>-8x+2=0
Consider the following for the next two
(02) items that follow :

Given that in(G) = cot?0 + n*tan’6 + 2n,
where n is a fixed positive real number.

53. What is the least value of m(0) ?
(@) n
(b) 2n
(c) 3n

(d) 4n

54. Under what condition does m attain the
least value ?

(a) n = tan%0
(b) n = cot?0
(c) n =sin%0
(d) n = cos?6

A — ASGT-B-GNL
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ST T AT A (02) W R Frefrfad
- R =R fifse .

@it x=0, y=0, x+y=13R 6x+y=3
U I S e |

55. fqu-@-fog (origin) ¥ TRA T
fererot a1 areftencor Far § 7

(@ 3x+y=0
(b) 2x+3y=0
() 3x-2y=0

d 3x+2y=0

56. gER Tt &1 wiawo a1 @ 2
(@ x+2y-1=0
(b) x-2y-1=0
© 2x+y+1=0

@d 2x+y-1=0

AW 3 4T Q7 (02) WAt & forg Fpafafea
R femr $ifse .

é]ﬁgﬁﬁ+4ﬁ=lﬂﬁﬁﬁ§ﬂx,y)%l
a1+ g E, F faa & B § |

57. PE + PF foras sex & 7
(@ 1
(b) 2
() 3
(d) 4

ASGT-B-GNL - A

ss.ﬁmﬁf@aﬁgaﬁqtﬁwaﬁrﬁq;

I,

B _‘/.3_ _1]
2

IR fou o fogett # w-w1 defgm &
e (latus rectum) W § ?
(a) e 18R 2
(b) %ad 2 3R 3
(c) wad 1 3R 3
@) 1,238K 3

AW AW AT Y (02) W & forg Freaferfaa
R R fifvg -

[Wly=x 99 (x— a)’+*=a> N Q G &
Sedt §

59. AYEE FT SATA FT § ?

(7 -2)a?
4

(@)

(m—1)a?

g

(m-2)a®
2

(©)

(r—1)a?
9

(d
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Consider the following for the next two
(02) items that follow :

A quadrilateral is formed by the lines
x=0,y=0,x+y=1and 6x+y=3.

55. What is the equation of diagonal
through origin ?

@ 3x+ty=0
(b) 2x+3y=0
() 3ax-2y=0
d 3x+2y=0
56. What is the equation of other diago-
nal ?

(@ x+2y-1=0
b x-2y-1=0
) 2x+y+1=0

d 2x+y-1=0

Consider the following for the next two
(02) items that follow :

P(x,y) is any point on the ellipse
x2+4y?=1. Let E, F be the foci of the
ellipse.

57. What is PE + PF equal to ?
(a) 1
(b) 2
k&) -3
(d 4

21

58. Consider the following points :
A oj
2

({3 1
2 14

3. [, ==
Fa

(3 1)

Which of the above points lie on latus
rectum of ellipse ?

(a) 1 and 2 only
(b) 2 and 3 only
(c¢) 1 and 3 only

(d) 1,2 and 3

Consider the following for the next two
(02) items that follow :
The line y = x partitions the circle

(x—a)2 + y2 =a® in two segments.

59. What is the area of minor segment ?

(m-2)a*

OF

(- l)a2

® =

(m-2)a®

(©) >

(- l)a2

@ =

A — ASGT-B-GNL
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60. TGS T SATFA T © ?

(3 -2)a®
4

(@)

(3m+2)a®
Ligmne v o
(37 —2)a?

2

©

(37 +2)a?

(d 5

T ST T A (02) T fore Pt
R f=r Sifse .

qa W 4(1, -1, 2) 3R BER, 1, -1)
M x2+y? +2% + 2ux+2vp+ 2wz —1=0
¥ =g & ¥ fog ¥
61. u+v+wiras R 2 ?
(@ -2
(b) -1
(© 1
d 2
62.7f P(x, y, z) M ® = fog & A
PA% + PB? fordh sRIeR § ?
(@ 15 |
(b) 14
(c) 13
d) 65

ASGT-B-GNL - A

22

R 3 AT QY (02) WAt & forg foreferfaa
‘Rﬁaﬂ'ﬁﬁm

q @t | R fiftg e g smaua
(2,-1,2)3ﬂ1(k,3,5)'§|ﬁ%@mm%

R AT € |

63. k AN FTR ?
(@) 4
(b) 2
() 1
W) =l

64. 38 @ F feg squra w=n €, < I
@ WA § ?
@ (1,2, 10)

® "1, -2, 10)
© (11, 12, -10)
@ (11, 2, -10)

ST ST AT 3 (02) W F Ry Frefifed
R fomr $ifso .
aM A @ =37+3j+3k R T=/-%
R W AT b o WER R 25 =27
R axb=9c 2|

65. b ToFes ST € ?
(@) 3i+4j+2k
(b) 5i+27+2k
(c) 5i-2j+6k

(d) 3i+3j+4k



www.govtjobsalert.in

60. What is the area of major segment ?

(3m-2)a®

(a) g

(37 +2)a*

(b) 2

(3n-2)a®

L e

3n+ 2)a

Gr+2)a”
(d -

Consider the following for the next two
(02) items that follow :

Let A(1, -1, 2) and B(2, 1, 1) be the end
points of the diameter of the sphere
x* +y2 +2% + 2ux +2vy+2wz—1=0.

61. What is u +v+w equal to ?
(@ 2
() -1
() 1
d 2

62. If P(x, y, z) is any point on the sphere,

then what is P42+ PB? equal to ?
(a) 15
b) 14
5o

@d 65

23

Consider the following for the next two
(02) items that follow :

Consider two lines whose direction ratios
are (2, -1, 2) and (k, 3, 5). They are inclined

T
at an angle —.
5 4

63. What is the value of £ ?
(a) 4
(b) 2
(C) X
@ -1

64. What are the direction ratios of a line

which is perpendicular to both the
lines ?

@ (, 2, 10)
() 1,
) (11, 12,
-10)

2,10}
~10)
@ (11,2,

Consider the following for the next two
(02) items that follow :

Let @=3i+3j+3% and C=j—k. Let

—

be such that Z-_b_)=27 and E)x?;=9c

B
b

65. What is b equal to ?
(a) 31+47+2k
(b) Si+2j+2k
(c) 5i-2j+6k
(d) 37+3/+4k

A — ASGT-B-GNL
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66. (Z)+Z))3ﬁ'(?a3'éﬁ?7ﬂmm%7 (©) 16
81
(@ 121: 32
. @ <
b) 3 ,
: ST ST T 2 (02) et 3 R Frenfif
(0 3z R fEr fifv
<1 forgstt 4 sk B % fRufa wfew s 7- 7
.= R j+k B

IR AW AT o (02) Wt F forn FrafiRea 69. fFrafofes faget w fem $Hiftr -
R fomR ifsm .

- 1. fo?, 43,19
WFﬁﬁQ@F&QT E)=4f—8f+llé, %Y,z 2 (-1.3.2
a&ﬁﬁwﬁmﬁ%mmna,ﬁ,y NS D)
I ST R | ; 3:°(=2, 5, 3)
67. cosa Toraes aeR § 7 AR ﬁgaﬁﬁaﬁa-ﬁﬁg,qaﬁtgaﬁ
| STie el 3T R Ra € 2
@ 3 (a) a9 1 3R 2
®) g (b) Fae 2 AR 3
3 (c) sae 133
(© 9
| (d 1,23R3
2
(d) 3 e
70. AB a1 AT 471 § ?
.68. cos2f + cos2y Toreeh seR ® ? (@ 2
32 (b) 3
(a ~31 :
i © 6
W @ 3

ASGT-B-GNL - A 24
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66. What is the angle between (?i’+77)) and

c 9

(a)

(SR

(®)

w|

4
© %

@ %

Consider the following for the next two

(02) items that follow :

Let a vector a =41 —8f+l?: make angles
a, B, y with the positive directions of

x, ¥, z axes respectively.

67. What is cosa equal to ?

1
(a) 3

2
® 5

2
© 3
pR
@ 3

68. What is cos2f + cos2y equal to ?

_32

@ ~4
16

(b) 31

25

©

@ 4

16
81

32

Consider the following for the next two
(02) items that follow :

The position vectors of two points 4 and B

are i—J and J +k respectively.

69.

70.

Consider the following points :
1. (-L=331)
2. -1, 3,2)
3.(-2,5,3)

Which of the above points lie on the
line joining 4 and B ?

(a) 1 and 2 only

(b) 2 and 3 only
(c) 1 and 3 only

() 1,2 and3

What is the magnitude of AB ?
(@) 2

(b) 3

© 6

d 3

A — ASGT-B-GNL
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WM FW AW AW (03) wWi F Frg o a@™ @ (02) W ¥ frw FrafiRed
o w faw $iftr - R fErR fif

AH NG f(x) = Pe*+ Qe + RS, wei  HM WNQ £ V@1 Eehd @R @ S

P,Q,Rarmﬁa;m%|3§a;aﬁrﬁﬁ; ﬁ-ﬁy2=2a+2cﬁ3ﬁﬁﬁﬁﬁm

In2 ®, 8l ¢ T& EATHS U € |
F(0)=6, f'(In3)=282 3K jo fx)dx=11

74. T8 FqHA FHIE A Ffe (order) FT

71. Q& WA FT R ? ?7? -
(@ 1
(@ 1 A4
(b) 2 () 3
) 3 d 4
d 4 75.@%%@%_ (degree) FT
27
T2.REAAHTE ? (@ 2
(®) 3
(@ 1 T
(b) 2 (d) W@ &1 e &R
el I I AW d\ (03) WEi ¥ frg
Frafafas w faer $ifto .
d 4
COBX v acil
A AT f(x)=[2sinx x? 2x
73. £(0) foras TR # 7 tan ol
@18 76. £(0) T =R & 7
(b) 16 (@ -1
: (®) 0
(© 15 s
(d 14 - @ 2

ASGT-B-GNL - A 26
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Consider the following for the next three
(03) items that follow :

Let f(x)=Pe*+Qe**+ Re**, where P, 0,
R are real numb?rg. Further f(0)=6,
f'(In3) = 282 and jo” f(x)dx=11

71.

72.

73.

What is the value of Q?
@ 1
() 2
© 3

(d) 4

What is the value of R ?
(a) 1
(b) 2
() 3

@ 4

What is £'(0) equal to ?
@ 18 |
(b) 16
(¢) 15

(d) 14

27

Consider the following for the next two

(02) items that follow :

Suppose E is the differential equation repre-
senting family of curves y2 =2cx+2cvce
where c is a positive parameter.

74. What is the order of the differential

equation ?
(@ 1
(b) 2
(c) 3
d 4
75.
equation ?
() 2
(b) 3
(c) 4

What is the degree of the differential

(d) Degree does not exist

Consider the following for the next three

(03) items that follow :

cOsx X
Let f(x)=|2sinx x?
tanx Xx

1
2%
1

76. What is f(0) equal to ?

(@) -1
() 0
(© 1
d) 2

A — ASGT-B-GNL
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77. lim £ fes wmre 7
@ -1
(®) 0
(© 1

@ 2

78. lim %) fra¥ w2 2

x—0 xz

(a) -1
() 0
) 1

d 2

AW AW A I (02) WA F o Fraffaa
R =R fifse .

A\ T £ (x) = sin[7? Jx + cos[-n2 |x &l
[.] T weaw Uiteh e § |

79. f(g) T sxeR § 7
@) -1
(®) 0
© 1

@ 2

ASGT-B-GNL - A
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80. f(%) forad aer R 7

(a) B

(b) -1
c) 1
ol

d 2

I I A A (03) wWi ¥ g
Frafafes w® fmr $ifs .

T

mFﬁﬁQI]=J' = —dx 3R

0 1+cos“x

Y4 R
L= ) dx%
0 1+sin“x

Il+12
*L-1,

81 &AW TG ?

@ 1
) =

(c) =?

n+1
o

82. 812 M AR TR ?
(@ =
(b) =2
(c) n’

@@ =*
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77. What is lim ) equal to ?
x—0 X
(@ -1
(b) 0
(c) 1

(d 2

78. What is lim AL, equal to ?
x—0 xz
(@ -1
() 0
(c) 1

d 2

Consider the following for the next two
(02) items that follow :

Let f(x)= sin[zz2 Jx+ cos[—7t2 Jx where [.]
is a greatest ‘integer function

79. What is f(g)lequal to ?
(@) -1
) 0
(c) 1

@ 2

29

80. What is f (%) equal to ?

1
(a) e 1
(b) -1

(© 1

d N

Consider the following for the next three
(03) items that follow :

Let Il -'—"[

81.

82.

o 4

0 1+cos?x

dx and

¥4 1 dx
L= :
; 0 1+sin’x

L+,
What is the value of 7~ /4
1742

(@ 1
(b) =

(c) n?

w+1
-1

(d)

What is the value of 877 ?
(@ ©
(b) =?
(c) =*
@ =*

A — ASGT-B-GNL
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83. I, AF HT & ? I AWM A A (03) wel F fom
Frafafea ) fmr $ifsg .
(4
@ 5 A T f(x) =|Inx| x#1 %
T 86. x=0-5 T f(x) T FaHerS T & ?
® 2%
(a) -2
© 575 | ®) -1
ey -1
/(4
(d) W d) 2

'aﬁﬁaﬁmﬁa‘f(oz)wﬁ%ﬁ-rqﬁ A 87.x=2 W f(x) & JaFe T 8 ?
\RﬁﬂRﬁﬁN 1

s (@) \ Y
mwhﬁml:j @dx, a<b :
> (b) -1
84. /| forah SRR e a<0<bh® ? ;
@) a+b © 3
(b) a-b d 2
() b-a iy
88. fof(x) T Haahelsl FT &, ST&l 1 <x <2
@ 2 i
1
(@) o
85. | fras TR e v d a<bh<0® ?
1
QL™ (b) xilnx
(b) a-b
@
) b-a Inx
(a+b) o
d) 2 @ xilnx

ASGT-B-GNL - A 30
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83. What is the value of I, ? Consider the following for the next three
(03) items that follow :

n
= Let f(x)=|lnx,x#1
@ 5 f(x)=|inx|
86. What is the derivative of f(x) at
i x=057?
L) S ~
®3n @ -2
©) I
242 ©) 1
¥ d) 2
@ 37
87. What is the derivative of f(x) atx=2 ?
Consider the following for the next two 1
(02) items that follow : (a T3
Let I—J.bmdx a<b - Yoy ~1
=) Fdx,
84. What is / equal to when a<0<b? (©) %
(@ a+tb @ 2
(b) a-b
88. What is the derivative of fof(x), where
(c) b-a 1<x<2?
b
@ T2 L
@) Inx
85. What is / equal to when a<b<0? 1
(@) a+b (b) xinx
(b) a-b 1
© Inx
(c) b—a
- (a+b) il
@ ¥ @ xinx

31 A - ASGT-B-GNL
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AW AW 9 QY (02) WA & forg Teafafea
x+6, x<1
A Hifvg f(x)={px+q, 1<x<2
5x, x=22
R f(x) G § |

89.p MAMHTE ?
(@ 2
(®) 3
(c) 4
d 5

90.g FAF FTE ?
(@) 2
(b) 3
(c) 4
@ s
91.%&%@«%%:
1. f(x) = Inx, (0, c0) & AT
2. gx)= e"+e%, (0, o) & FHEHH B
ITH FAA A FN w1/ W R/ ?
(a) &ad 1
(b) Fae 2
(c) 13K 23t
d a%ﬁ_l,a‘é‘rz

ASGT-B-GNL - A
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92.

93.

94,

95.

sin?x &1 cos?x & HeH W Iaaharst FT
g7

(a -1

() 1

(c) sin2x

(d) cos2x

m<0 @fga m & T 7@ F fog
Jatait y=x, y=mx IR x=2 TR
IREg FTHA 3F W 8 ?

cosec(x°) FT Jaeherst T § ?
(a) —cosec(x°) cot(x°)

(b) —%cosec (x°) cot(x°) *

(c) % cosec(x°) cot(x°)

(d -—T%cosec(x) cot(x)

Hah  FHIHT (Q)z—x@iw Ea|
dx dx

T R ‘

(@ y=2x

(b) y=2x+4

© y=+-1

__(x2—2)
@ y= 5
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Consider the following for the next two
(02) items that follow : :

x+6, x<1

Let f(x)={px+q, 1<x<2

5x, x=2

and f(x) is continuous

89.

90.

91,

What is the value of p ?
(a) 2
(b) 3
(c) 4
d 5

What is the value of g ?
(@ 2
(b) 3
(c) 4
@ 5

Consider the following statements :

1. f(x) = Inx is increasing in (0, ©)

—

2. g(x) = €*+e* is decreasing in
0, )

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

33

92.

93.

94.

95.

What is the derivative of sin?x with
respect to cos?x ?

Y

() 1

(c) sin2x

(d) cos2x

For what value of m with m <0, is the

area bounded by the lines y =x, y = mx
and x=2 equal to 3?

1
@ -3
(b) -1
3
P,
@ -2
What is the derivative of cosec(x®) ?

(@)

—cosec (x°) cot(x°)

/1
———cosec(x°) cot(x°)

®) ~Ts0

/1
——cosec(x°) cot(x°) -

© T80

(d

—l—:o-cosec (%) cot (%)

A solution of the differential equation

2
(i}i) —xd—y=0 is
dx dx

(@ y=2x
(b) y=2x+4
() y=x*-1

(x*-2)

@ 23
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e fa)=x2+2 IR g()=2x-3
&, T (f)(1) forash TR R 7

(a) 3
b) 1
(c) 2
(d) -3
®Aq f(x)=x+|x| S 9 (range)

TR ? VRl Ged @ Wi (Domain)
Ireafes TS T ageag ® ?

@ (0, )
(b) [0, )

© o)

98.

- (©

99.

(d) [1, )

afe fx)=x@x2-3) &, N f(sinb)
foraes sReR © 7

(@)
(b)

—sin36
—cos360
sin30

(d) —sin46

lim O %
x—-)5|x—5|

foras s 2 7

(a) -1
(®) 0
) 1
(d) o afer 78 2

ASGT-B-GNL - A
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100.

101.

102.

-
lim* —1
x-1 531

Toraes =R ® 7

(a -1

(b) -3

(© 3

(d) = ferea @ 2

U WU & WIEm R YOO A

14 3R 132 8 | 9= & ¥ 9 oy
11, 16 3R 20 € | 3179 o1 Sreqor =1 § ?

(a) 8315
®) 9 R 14
(c) 103K 13
(d 11 3R 12

AA T 4 3R B § @aa weq] =
TR g f6

P(4)=07, P(B)=k, P(AUB)=038
RlkwmamTm g ?

5
(@) 7

2 S

®)

©

NN

N -

@
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If f(x)=x*>+2 and g(x) =2x -3, then
what is (fg)(1) equal to ?

(@ 3
(b) 1
(c) 2

d -3

What is the range of the function -

f(x) =x + |x| if the domain is the set of
real numbers ?

@ (©, ®)
®) [0, @)
© (o, )
@ 1, )

If f(x)=x(4x*-3), then what is
f(sin@) equal to ?

(@)
(b)
©
(d)

—sin360
—cos360
sin30

—sin460

What is lim >—*
x—)5|x—5|

equal to ?

(@ -1
(®) 0
(c) 1

(d) Limit does not exist

35

100.

101.

102.

9
What is lim X

equal to ?
x-1 21
(a) -1
(b) -3
(c) 3

(d) Limit does not exist

The mean and variance of five obser-
vations are 14 and 13-2 respectively.
Three of the five observations are 11,
16 and 20. What are the other two
observations ?

(@) 8 and 15

(b) 9 and 14

(c) 10 and 13

(d) 11 and 12

Let 4 and B be two independent events
such that

P(A4)=07, P(B)=k, P(AUB) =08.
What is the value of k ?

5
(@) 35

<l

(b)

=S N

©

(d)

3| -
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@Hﬁﬂaﬁﬁaﬁﬁmﬁﬁa(head)
anﬁﬁuﬁaﬁn.}%, I 9K IS8Tl

WA ® | 39 G h wan Wik € fe
g T IR IV A UE (tail) AQ AR
I arg faa g ?

8L

® 53

81

W

81

© 25

by S
@ o2
T R 3@ weR aftma § fe s
R (head) 3 it GHEAT 92 (tail) I
H gwE ¥ ot @ | R & SR
o 9Tl A gdd o e s &y
FT WTRrehaT § ? :

81

¢ 256

27

il

27

(c) -25—6

9

e v

a1 xR ¥ @ afees | W
¥R § & X+ ¥=100 % | 3l wrw
n =100 3R p = £ afeq x fug seq =
AL AT §, AT Y T R0 7§ 7

ASGT-B-GNL - A
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106.

107.

108.

(@) 1
(b)

N | =

(c) 16

i

'qﬁx+4y+l=03ﬁ'(‘4x+9y+7=0
Y TPET @Y A TE y=-38 QA
X & A 1R ?

() -13

®) -5

(© 5

@ 7

T& 99 91¢ (Pie Chart) & IR fBrsw
Gt (FFe) & F R p, g, r AR s
(fsft A) wew 9p=3g = 2r=65s M
I IA € | 4p—g N AW 12 ?
(a) 12

(b) 24

() 30

(d 36

4,1,4,3,6,2,1,3,4,5,1, 6 &0 12
T8l Y T 1Y ek S & IRom € |
afe m R M FAY: Ge@ B 8 Ve
IR o8 &S 4 Vewi F wew €, A
(2m + M) fras st=R § 7

(a) 10

(b) 12

fc) 17

(d 21
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A biased coin with the probability of
getting head equal to ;1‘- is tossed five

times. What is the probability of

getting tail in all the first four tosses
followed by head ?

81

@ 312
81

15 pemed e
®) 1024
81
(c) —25_6
27

@ 1024

A coin is biased so that heads comes
up thrice as likely as tails. In four
independent tosses of the coin, what is
probability of getting exactly three
heads ?

81

(a) ﬁ

27

)=

27

® S

R\ 256

Let X and Y be two random variables
such that X+ Y=100. If X follows
Binomial distribution with parameters
n=100 and p = %, what is the variance
ol Y?

37

106.

107.

108.

(@ 1
1
(b) 2
(c) 16
1
() 16

If two lines of regression are

x+4y+1=0 and 4x+9%+7=0,

then what is the value of x when
=-3?

(@ -13

() -5

) 5

@ 7

The central angles p, ¢, r and s
(in degrees) of four sectors in a

Pie Chart satisfy the relation 9p =3¢ =
2r = 6s. What is the value of 4p—¢q ?

(a) 12
(b) 24
() 30
(d) 36
The observations 4, 1, 4, 3, 6, 2, 1,
3,4, 5, 1, 6 are outputs of 12 dices
thrown simultaneously. If m and M are
means of lowest 8 observations and

highest 4 observations respectively,
then what is (2m + M) equal to ?

(@ 10
(b) 12
e 17
d 21
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109. 7% foeR 3o W= # Faw @ fag

110.

111.

L DI G, 1A yH x|
FHTHA @1 T BRI ?

(@ x—-4+5=0
(b) 3x+2y-1=0
() x+4+1=0
(d 5x-4+1=0

TH YR & 10 IR IS @1 § 3R
e ooy B € .

121 271.4.6.5.4

%WW%ZT(data)ETWW
BRI ?

(@ 6
(b) 4
(c) 2
@ 1
frafafes aReRaT sier w® R
hfor :

X 1 2 3 5

fi |74 e 7

Sea d Arferew & 7 o @ 2
(@ 1
b) 2
(c) 3
d 35

ASGT-B-GNL - A
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112.

113.

114.

d@L 14,3812 19019911
% forw, afe Mraeer 5 Qe & mifere
? R N afed giw Jeoit it mifeae
S NAM-NFAFA TR ?

(a) 7

(b) 4

(c) 1

@ 0

AW Wifie feft dem 5P=4Q=§
& fow P, 0, R wuw: wew, wifers
dR T w fefm =3 € @

P+Q :
CORGIGRC U] ?
2P+07R B

L
12

(2)
1
M-

(©)

o N

—

(@

et 1,2,22,23, ..., 21, &1 IR
M G B, A 1+2log,G H HE T

??
(@ 1
(b) 4
& a1

@ n



109.

110.

111.

www.govtjobsalert.in

A bivariate data set contains only two
points (-1, 1) and (3, 2). What will be
the line of regression of y on x ?

(@ x-4y+5=0

(b) 3x+2y—-1=0

(c) x+4y+1=0

d) 5x—4y+1=0

A die is thrown 10 times and obtained
the following outputs :

LG L 5,490 5.4

‘What will be the mode of data so

obtained ?
@ 6
(b) 4
(© 2
@ 1

Consider the following frequency
distribution :

| &N\Z™® 3| 5
FISNN 61 9} 7

What is the value of median of the
distribution ?

@ 1
®) 2
© 3
@ 35

39

112.

113.

114.

(©)

For data -1, 1, 4, 3, 8, 12, 17, 19, 9,
11; if M is the median of first 5
observations and N is the median of

last five observations, then what is
the value of 4M - N ?

@ 7
(b) 4
© 1
@ 0

Let P, O, R represent mean, median
and mode. If for some distllg'bthion
R ; +
=40 =—, th hat is
el oo @ [y Y
equal to ?

1

@ 12

®

~J | -

olN

d

B -

If G is the geometric mean of numbers
1,2,22,23 ...,2"] then what is the
value of 1+ 2log,G ?

@ 1
(b) 4
© n-1
@ n
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gfe gemsn 1, 2,22 23, ..., 2+ &
TIHS WeT H § A1 n/H foras aer
e

@ 2=

2n+1

1

(b) 2 2,,_1

1
() 2+ =

1
@ 2—:'2—,, |
WFﬁﬁlﬂaWﬁxl,xz,x3,...x,,ﬁ
wifeasT P, Wiew Q SR Sgow R © |
i s= 3" @2x-a) &, S
A ~IAaH BN 5T g SRTeR 8
(@ P
® 2
(© 20
d R

@ A ¥ 3 e o 2 @l W €
A 2ake RIFAMRE | AT AN
TE 4 ¥ e R g ¥ 3 <@ e
T & R B TR 8 ¥ A A
Foreprett Sl ® | =/ e & 6 9= e
T A ?
@ 2

7
33
70
3
10
1
70

©

(@

ASGT-B-GNL - A

40

118. S 9@ %% o § | o wifkear © R

B W Fad 3 F O A, ?

1
(@ 6

(b) 18

1

() >

1
@ 3

119. ¥ Wiyt & & gk & 7w &

5 e B ?
(@ 1

(b)

(©)

SN ST I U TR N

(d)

120. Tt 50 &Yl EEATs § ¥ Uh et

AT n FA S § | T WifeRar © R
n+5—’?-<50€f?

23

25

47

50

24

25

49

50

(a)

(b)

©

(d)
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If H is the harmonic mean of numbers
1, 2, 22 23 ..., 2" then what is
n/H equal to ?

1

2n+l

(a) 2-

1
2)1—1

(b) 2-

(c) 2+

2'!-1

1
(d) 2——2—;
Let P be the median, Q be the mean
and R be the mode of observations
X1,X9,X3,...X,. Let S = Z;':l(Zx,- —a)2.

S takes minimum value, when a is
equal to

(a) P

® 2

(© 20
@ R

One bag contains 3 white and 2 black
balls, another bag contains 2 white
and 3 black balls. Two balls are

drawn from the first bag and put it

into the second bag and then a ball is
drawn from the second bag. What is
the probability that it is white ?

6

(@ ‘,;
33
70

3
10

1
70

(b)

(©)

(d)

41

118. Three dice are thrown. What is the

119.

120.

probability that each face shows only
multiples of 3 ?

1

(@) 3

18

s
27

(b)

©
1

(d B

What is the probability that the month
of December has 5 Sundays ?

(@) 1
(b)

(©)

(d)

QI Nlw A=

A natural number 7 is chosen from the
first 50 natural numbers. What is the

probability that n + % <507?
23
25
4
50
24
25
b
50

(a)

(®)

(©

(d)

A — ASGT-B-GNL
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ey W * forg g
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e =W % forg W
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : ASGT-B-GNL . ‘ Test Booklet Series

TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maxtmum Marks : 300
INSTRUCTIONS
1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD

N

CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR

MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST

BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and

Test Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at

the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the

Answer Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.

Each item comprises four responses (answers). You will select the response which you want to

mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the

response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses @NLY on the separate Answer Sheet provided. See directions

in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,

you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take

away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers ;

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

~ (i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty. :

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.
(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty

for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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